Continuous random variable
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2. The histogram shows the durations —"—’
of the eruptions of the Old Faithtul 074 e

Geyser in Yellowstone Park over = 0.6 1 .
a period of time. E g'i |
Sketch what you think the graph E a3 4
of the continuous random variable g 02
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Example 1

Show that fix) is a probability density function where A
f(x)=1(x-3) for3saxss.
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Find P(X < 4).
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cf For the following functions, state whether they could be used as a pdf, and if not explain why.
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b) P(x=2)=0
gi Expre-ss the pdf shown in this sketch as a function. y—;[ =m (Z/.%Q
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&70 Find the median for the probability density function in Example 1

z fix) = é(.x' -3) for3<x<5.
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